|
B

Don't use

DB-Killer EVO N°52
Co0d.308421801

Cod. 201044

Grower @5 Cod.202286
Allen screw M5X6 T.C.E.l. INOX

Factory S INOX
silencer SX @i 54
Cod.308421482

Factory S INOX
silencer DX @i 54
Cod.308421481

2 Aluminium
spacer
Cod. 205771

Cod.200333

Knurled collar nut Mé

2 Allen screw
M8X65 T.C.Z.B.

Cod.201222

2 Aluminium bracket
Co0d.3014146501

Knurled collar
nut M8
Co0d.200298

2 Allen screw
M6X25 T.C.Z.B.
Cod.200586

Cod.205767

2 Aluminium spacer
-for allen screw M6-

Art. 14146S

4 Short helical spring
tensile
Co0d.206003

4 Short tube in
silicon rubber

Cod.205%9461

KAWASAKI Z21000SX (*14-'16)

2 Aluminium spacer
-for allen screw M8-

Cod.200298

Pipe N°1091

Cod.3014146202

Pipe N°1090

Cod.3014146201

SLIP-ON DOPPIO - Factory S - INOX - Passaggio STANDARD

Mounting plate M6
Cod.204664




	Foglio1
	Vista del disegno12
	Vista del disegno13
	Vista del disegno14


